


1 Show that the subspaces of R? are precisely {0}, all lines in R? containing
the origin, and R?
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2 Show that the subspaces of R® are precisely {0}, all lines in R® containing
the origin, all planes in R® containing the origin, and R?
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2.36 example: dimensions

e dimF" = n because the standard hasis of F" has length n.
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}/ (a) LetU = {p € P,(F) : p(6) = 0}. Find a basis of U.
(b) Extend the basis in (a) to a basis of 7, (F).
(¢) Find a subspace W of P, (F) such that 2, (F) = U & W.

|
|




" ‘—éq =0

(q\'éO‘ =0

O L—-—O

\o\\\mﬁ' P A spars the U

1 LCl', }96\] Tlvew P(é) =0 (j Divison rtle
P(Z) — (- 6>(JX+L/ o Tk f/ (

-(,(')(4—)9/4‘”7‘* 1/
LgxZ=6eby) a6 e, |

=g (b6 e (e,

o
\—nL-i‘.L 1 2 { =/ |
\ O\ L 4

Therfopo 5 P.L T4 ég,. for

e iF

P ——

”~







/ lmfwj l\/\(/lq%éﬂ(AE'VJ{
= (//; QF)

p- ¢ ¢ +brt ‘ A
' }léaﬂ AME . (4 o\%/l{é (éa+g>7é

~(k7’ éﬂ/f

Jra% L( é}*é‘m( ”%6(“1&*(&4 r)
+K(ﬁ“)* 61@%‘() 6(./,(5@%6}0 +€f)w“

6a+A/(>€ (%)T(ém Lw)(?ﬁ 6X>

4\‘(4‘ AT 36 L\#r’/




—Y\/ ﬂ)\ﬂk«k\(\(}‘\, \ A, C‘é(}\\\)%(}é A+ Ep c\”
(Ql60+ 2ebrccrd) |

(\”Mé e )9 L e A te)e |

TM PP 0 e G (D
WYQW TOVM K B

)

Q) Wespan( ) =L kI ker]
) Then \/+vv§ ﬁ (P ij paYerD
Farthor  UOW = {5

”\emcom VOw = QGD



